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1. Which of the following is not a component of
Input Unit

computer ? o
) CRY

A) Projector

fc Storage Unit

2. Which of the following set up on 1% August 1969
for exercising Superintendence and Control
over the Market Committees in the Haryana
State ?
(A) Haryana Agricultural Board (HAB)
(B) Haryana State Agricultural Board (HSAB)
(C) Haryana State Agricultural Marketing

Board (HSAMB)

(D) Haryana Silk and Marketing Board (HSMB)

3. By selling 12 oranges for a rupee, a man loses
20%. How many for a rupee must he sell to

gain 20% ?
(A) 5 & (8) 10 OFie
(C) 8 (D) 15 b

4. Which of the following National Park not
situated in Haryana ?

(A) Sultanpur National Park
(B) Rajaji National Park
(C) Kalesar National Park
(D) None of the above
iti ice are shown below as
= E;vgn%o?;it;?%hgnas?):ci% at the bottom, what
number will be at the top ?

. . @
.

(i) (i)
(A) 5
(C) 4

6. The public enterprises like Indian Oil -
Corporation Limited and Steel Authority of
India Limited are the examples for

(A) Navaratnas (B) Maharatnas
(C) Miniratnas (D) None of the above

7. Between whom the Treaty of Villa Franca was
signed in 1859 ?
(A) France and Austria
(B) France and ltaly
(C) haly and Austria

(B) 2
(D) 1

(D) Iltaly and Germany
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eftra 3 e droper w1 o v 8 7

2. gfemn w7 A arm afifi % s stk
e & g 1 s 1960 # P & &
Rtz Y i 7
(A) e sy até ()

(B) &famon Rz fiese 91 (wamms)

(©) sfamm Re sifimeate arkfen a1
(TereweeweE)

(D) wfemon feeh e wrHfen A (TaTETHE)

B UF F9U A 12 AWH F= F g OF Al F 20%
T Bt B, 20% &1 A AR & foIT 38 T w9Y
(B) 10

% fopaa s=a =fe ? -
(D) 15 E¢E

(A) 5
(C) 8
4. Prafafas § ¥ FF-a1 0 IaE sfamn # fRa
wR?
(A) FeamgL T JaH
_B) Tt U IuH
(C) FTereR TS UM
(D) I § & FHg T
5. frfofaa fmda s () v i) @™ 1Rk
Free waE WA, T I e W HA-H Fem gt ?

..

(i) (i)

) 5 ®) 2
(C) 4 D) 1
6. fm itm FoRm ffies R D s
ﬁm%%m%ﬁizaﬁaﬁaﬁmmr___%
JE E | _
A) T AB)
:c))ﬁrﬁra (D) ST & A S R
7 1859 fren e R wfu R A R
(A) ot SR A
(B) %@ M gTht
(C) seeht 3R e
(D)szsﬁaﬁ'(m
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A watch gains 6 minutes in one hourand was | 8. T w2 v o2 # 6 fire A wedt & 3R 'ﬁ/
set right at 8 AM. What time will it sh ' = s
6 P.M. on the same day ? el i ;ﬂjﬁ%@;mw% Iﬁﬁmﬁq.m r'//
(A) 7:30 P.M. (B) 7P.M. (A) T 7 30 7R | @) |79 qf
(C) 8:30 P.M. (D) 8P.M. ) WH8-30F (D) MMET 18
The Haryana Police has launched a new 9. wfem gRr Y TE T WiwEEat fRrTA wt= i
software application, named . which foran B, Toraem A 2, <t gfem = aft f/
will allow the police to digitise and centralise all :mqtlﬁ:ﬁ e = e 31{-( Figa F0 H
criminal records and quickly match the details St m 3 2 ¥ N TF FAga 2o 6/
of a suspect with a centralised database during o4 e s 7
an investigation. < ¥ gy e Eiew & faen F g firer =t | [ 6
(A) Police Data Centralization System m Eﬁm s ﬁg?nsﬁm fereem .
(B) Police Data Analytics System (8) gfers 3o Tferfey freem 1
(C) Police Data Digitization System () Ifm fefrerea foeed - 3
(D) Police Artificial Intelligence System (D) v e gRfesE foreen Q
Inan exam itis required to get 36% of the maximum 10. U qhen A Il 81 & ferg sifreham 3T
marks to pass. A student got 113 marks and failed 3e%aii‘aailqaﬁﬁaﬁﬁﬂ11sai$ﬁﬁaﬂtaz 10
by85maﬂ<s.1hemaximummadcsis ssaiﬁﬁaqgiﬁﬁélﬂmlat{fﬁmaiﬁi \
(A) 1008 (B) 550 3@‘ 70 (A) 1008 AB) 550 - \
(C) 640 (D) 500 (C) 640 (D) 500 v |
In which of the following cities, Haryana \D 11, Frefafea 3 @ fra TR 3 R SET [
Government has planned to set up a National&/ e Tt A foE & (T ot 2.4, Trfa FA H
Disease Control Centre (NCDC) ? A T 9 © 7 v
(A) Hisar (B) Gurugram { o (A) feaw @) e Y.
(C) Ambala (D) None of the above | iz (O e (O) SR HARET
In which of the following the Ganga Flood 12 freferfan & & e T Ag FEw S, e R
Control Commission, Patna was established ? T o TS ot 7 (
(A) March 1971 (B) April 1955 (A) T 1971 (B) 1955 |\
(©) April 1972 (D) May 1996 ) (C) e 1972 (D) q‘§ 1996 / L
The 14" Non-Aligned Summit was held in \C\é 13. 1473 TeRrE Rret aeien el A |
A T o ¢
(A) Havana (B) Delhi {SL 2ol (A) T (8) feesh /\t\/ /Jg
(C) Bangalore (D) Belgradetoj ) A (C) U ) E D
The time taken by a student to reach his college{f 14. T femeff 1 3T A FH i o e

from his house is 1 hour and 40 minutes. The
college starts at 9 : 40 AM. If the student
reached the college 10 minutes earlier, then at
what time did he starts from his house ?

(A) 8:00AM. (B) 7:40 AM.

(C) 7:45AM. (D) 7:50A.M.

What s the total number of Legislative Assembly
(Vidhan Sabha) seats present in Haryana ?

(A) 90 (B) 95
(Cy 100 (D) None of the above
-3-
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15.

(A) wra: 8 : 00 A (B) Sd: 7 40 =S

(C) 91?1:7:4533 By wma: 7 50 &9

aﬂqm%ﬁsﬂumﬁﬁmmmﬁ i g w&

?
90 (B) 95

(C) 100 (D) I o & g T
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17.

18.

19.

20.

21,

22.

There are 3 circles in the following question.
First circle indicates the aréa of wheat, second
for rice and the third indicates the area of gram.

vl 4 R0 )
A'é

Gram

The area of wheat, gram and rice indicates

O/

(A) E ®c e
(C) D (D) A ;

A is a series of minor data security
attack that together result in a larger attack.

(A) IPR violation (B) Phishing
(C) Doxing (D) Salami attack

In a mixture of 60 litres, the ratio of milk and
water is 2 --1. If the ratio of milk and water is to
be 1 : 2, then the amount of water in litres to be
further added is

(A) 60 (B; 30
(C) 40 (D) 20

Which of the following Buffaloes varieties
(Breed) of Haryana also known as “Black Gold
of India” ?

(A) Nagpuri (B) Surti

(C) Nili Ravi (D) Murrah

The voltage varies over a cycle varies as
V = Vsinat for 0<t< —:; V = -V, sinot for

LAPL 6 2T The average value of the voltage

® o
for one cycle is
2V

(A) YEO- (B) &

oy 2o
(C) Zero ( ) Ji'
are cold-blooded animals.

(A) Poikilothermous (B) Poithermous
(C) Holothermous (D) Poitohermous

Facebook was launched in the year
as social networking service and website,
founded by Mark Zuckerberg and few of his
colleagues.

i TR ™ lila

16. Prefafad s & 394 & | 98 99 7Y I 8
m%,@nmaﬂuﬂmm%aﬁﬁ
|

l A%

g, 51 30 e % & ) awten 3

Bhan)

MM E B) C
(C) D (D) A
AT UE DY g A U e
2 1 e g S s it Bl R |
(A) sdfiem seer () FeRm
(C) it 4D) GeATHt ATHA

18. 60 o % s Fagm § gy 3 wH F1 7
2:1%|uﬁq}:3ﬁtuﬁﬁaﬂm1zzmt,a’r

aﬂﬁmaﬁ‘m@fﬂﬂm?ﬂaﬁﬁ’ﬂ
. JA) 60 (B) 30
(C) 40 (D) 20

10, frmfufaa # & ghamn ¥ F FH-d @R
‘e 1 el G HE S e
(A) FTgh (B) gt
(C) Hreht Tl 40) T

20. T o A dieed Osts%. ¥V = Vsinat,

%sm%‘%mv:-\fosimﬁmﬁqﬂaﬁﬂ
B2 | vF T ¥ Rig Aree @ ofved TH R

Vo 2V,
(A) - (B) -
Vo

(C) Zero ®» 72

21, Frre-seE IHA R

(A)q\'sﬁéﬁ'ﬂﬁ'ﬂ (B) wigHE

(C) EreerE 4b) drdredE

2. WEEE A 3 gherer Yeafdn dar 3
m%mﬁmﬁmwm,sﬁmﬁkw

(A) 2010 (B) 2005 -
(C) 2006 (D) 2004

F18 0? \ K
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(A) 2010 (B) 2005
(C) 2006 ~ 4B) 2004
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24,

25.

26.

27.

Blue tongue disease in Livestock is caused by

(A) Mycotoxins
(C) Bacteria

(B) Fungus
(D) Virus

Which of the following cities in India has topped
in the NITI Aayog Sustainable Development
Goals (SDGs) Urban Index and Dashboard
2021 -227

(A) Shimla (B) Coimbatore

(C) Mumbai (D) None of the above

In Haryana, the Hathnikund Barrage situated
on the river

(A) Yamuna (B;
(C) Sutlej (D

Mohan travels 7 km to the North direction
from where he is standing and turns to
his right. He then walk straight for another
3 km and again turning to his right he moves
7 km. How many km away from starting point
is he ?
(A) 5
(C) 3

Krishnavati
None of the above

(B) 4
(D) 1
Everybodyinaroomshakes handwitheverybody

else. If the total number of handshakes is 66,
the number of people in the room is

(A) 14 (B) 12

(C) 8 (D) 11

In which type the ovary occupies "highest
position on the thalamus ?

(A) Perigyny (B) Epigyny
(C) Hypogyny (D) Mesogyny

P

The five founders of NAM (Non-Align
Movement) does not include

(A) Stalin of Russia

(B) Nkrumah of Ghana

(C) Sukarno of Indonesia

(D) Josip Broz Tito of Yugoslavia

\'\

The relationship between inputs used and
output produced by the firm is known as
(A) Cost-output relation Q’

(B) Cost of production
3km

(C) Cost function
(D) Production function

iy
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23.

24,

26.

27.
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qge A et sy (seg2m) I fereeh o B ?
(A) AR TR (B) #aF
(C) Adfran (D) PR

Preferfaa o @ wra F fem 2w 3 Hifa smam &
wareviia o @ (v A 5f.) ed gew ik
e 2021 - 22 ¥ vt wom yra P R 7

() fimen (B) Fda
(C) 7§ (D) It # & 7
ghammidsirfigedns  ddiwmfea)
{K) TG (B) Fommadh
(C) Hag (D) 3T # & F5 78

Hred wRl @ & a8l ¥ 7 fpanfier 3w A o
IoraT & 36 a6 o R g S @ 2dr g
3 fareinfier wermn ¥ | R ol ol e =
7 FreirdfieT Saar & | 98 W @ oo o1 78l ° anfl

e e g wm e 7
(A) 5 (B) 4
) 3 (D) 1

w T YT i T ot d g e
2 | 7R 66 ar By fiyemy Y, @ W & wfFE) A
e ®

(A) 14 ) 12

.. (C) 8 (D) 11

2 for e 3 afereT dne W Heie T TE § 7
(A) il (B) ufufif
(C) TrEUfER (D) @i

Py siden % o e §
e FE R |
(A) &1 F w=ife
(B) =1 & THATE
(0) Ferafkrn 3 gl
(D) grhmﬁm%ahﬁqa‘miﬁ
Fareft o 35 T S FAGE S IR I F
e & gaa 3 T A ST Sl R |
(A) TG H
(B) IcdTEA i AT
(C) @rTa wH
@) ST Fd

F18
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31.  Who wrote Indica ? 31. RFFAGHEIRE?
(A) Vishakadatta (B) Huan Tsang (A) farwmEes (B) & |1
(C) Megasthanes (D) Kautilya (2) ATeets (D) =feea
32. m;:; s ;%92 main objective of Haryana Nalka | 32. ¥ftam e dr, 2021 1 T RE L7
' %1 Tt ITcAeY HTAT
(A) Provide tap water to urban people (A; ﬁm dufedi 7 1
(B) Provide tap water to industrial estates in A8
the State 3qeASY HUAT
(C) Provide tap water to rural people (C) TTfior SRRt i Tt il T I FAT
(D) None of the above (D) 37 & & =g 7l
33. __ systemisusedincomputernetworks | 33. %Wt dead H wurelt &1 3TN R
which allow different users to access the same ST 2 <t Fafir= SwETRalet # & @ deaE W
data and application programs on the same T 227 3N oA Y #  SIEid Fa e |
network. (A) wed-srira arfatfn fem
(A) Multi-processor operating system D) (B) TeA-TR aTfqifen fem
(B) Multi-user operating system s?f?';."-}_-: Srmfim sQfE faew
(C) Multi programming operating system Rl L) g ~
(D) Batch processing operating system (D) ¥ arfd afatfen e
34. GUI stands for 34, GUIFTIYR _
(A) Graphical Unique Interface (A) m“ﬂ*m
‘f (B) Graphical Universal Interface AB) m‘@a‘iﬂm
ATEE (C) Graph Use Interface (C) T 3t T '
(D) Graphical User Interface (D) Tfhehet R ST
35. The hypertext documents on the WWW are 35. WWW R EUQaR q@Rs __ HEIH
known as WA G E |
(A) Web pages (B) Website Ky 33 ¥ (B) :
(C) Home page (D) Hyperlinks (C) B ¥ (D) ErEutfeTa
36 s a set of connections between | 36. ___ QAWAR i e 3T & iﬂ;
two or more components/devices, which are FAFIA N TH A 2, Gﬁ Tiqed F Ui @ T mm
designed to transfer several/all bits of a word =4 /o forem )t i ia w0t & fore fese
from the source of the destination. TR -
(A) Processor (B) Memory (A) S (B) Faaad
(C) Bus (D) None of the above JR) | (D) IudH
. ¢ ot} L ?
37. The term ‘Blue Revolution’ is related to 37. ‘feh wifa = fred wﬁ: R
(A) Aeronotics (B) Kerosene (A) ThEITE B .{EB; p——_—--
(C) Blue diamond (D) Fish ©) -
tituted on 3. eREmn TSy FE FHE1 A !
38. The State of Haryana was constitu g iy
(A) November 11956 @) 1 F9a 1966
(B) November 1* 1966 (C) 17 1968
(C) November 11968 ) v & & i T
(D) None of the above
F18 -6-
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39.

In a certain code language '743' means

39. ot any ;
‘Mangoes are good', '657' means ‘Eat good goodﬁ? ; 743 'WI Haod Martgoes are
food', ‘934’ means ‘Mangoes are riped’. Which %&5 I‘Mangoe g il Eadt gzhOd food Iii i;: R
digit means ‘riped' in this lan ? SE S are riped’ | dl g8 M1 il
igi p guage 3% ‘riped’ R 27
(A) Can't say (B) 4 (A) &8 7€ ga ®) 4
(C) 9 (D) 5 JG’) 9 (D) 5
40. Walking % of his usual speed a man is 4. HY T =T % aed T¢ U Al I
10 mins late to work;_)lace. The usual tim.e w1 T W10 e 2R qgam 2 =TI
taken to cover that distance by the man is T 1 T QA F foru v v T 2
(A) 8 mins 20 seconds (B) 50 mins (A) 8 firz 20 e (B) 50 fire
(C) 12 mins (D) 1 hour ») 12 fime (D) 19
41. The historical Sher Shah Suri Margis calledas | 41. e e gl #ri =t FEIACME |
(A) NH-1 (B) NH-7 (A) TTE-1 AB) TTE-7
(C) NH-8 (D) NH-4 (C) wa-8 (D) wTE-4
42. was a new initiative taken by the | 42. ¥RMER # THE, FEN H, AGwaR W
Government of India in November 2016 to ~  ayfergeen # Tael Fid ¥ y=ed A fa & fag
tackle the problem of corruption, black money, "
terrorism and circulation of fake currency in the :'W;ms 3 ST T T ___qaﬁ=r§
qEat 9t |
economy.
J (A) e-banking (B) G.S.T. (A) $-fm (B) Sfewdh
L
(C) Bank merging (D) Demonetisation - (C) %= faemm (D) T
How is my mother's brother's only daughter |  43. ¥ 1 3 rd < e ¥ o 8 3y e Avfh ?
related to me ? . (A) weftsht (B) ®&d
A) Niece (B) Sister o/f S
((c; Cousin (D) Aunt 5/ 46) Wit 7 ©)
. freferfaa wredar 1 i i |
44. Complete the following analogy. ’é 44. et KA -?:liAFlPED 2 RasDPH
BANISH : NASHIB : : HARPED : ? (\) DEPRAH  AB) RAEDPH
(A) DEPRAH (B) RAEDPH (©) ARHDEP (D) FHADE T 7
HDEP (D) None of these "
¥l B2 I dschargo a debtof | 5. a1 fts I P
45. What annual payment will discharge & £¢ g R A ? /
Rs. 580 due in 5 years the rate being 8% per | 5991 %. ssoﬁa@mﬁ) b @/
annum ? ) (A) ®. 120 ’ ;
H (A) Rs. 120 Eg; Ez 122 io S‘O ?{ (C) ¥. 65.60 (D) ¥. 166.40 _' "’[f)
(C) Rs. 65.60 v AR : P
| e qawE guEn & fog §3H T
46. The United Nations Global Forum fc?r .Floac: 46 NP SRR it Al 3 St :]92
4 Traffic Safety has appreciated the mm?tl.ve_ os aﬁ# ;ﬁ > Re gfém?ﬁq'ﬁﬁ"ﬁm
Haryana Police 10 reduce deaths and injuri¢ '1(-/ A A P ? )? “
caused by road acckient® ot |7 () o7 () T 44 /p»%/\
R 275 LFI8 3
7O iy - . : ﬁ :
s - 1 gea U W@ ey
o S x 5
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48.

49.

50.

51.

52.

54.

\
o

Who was the first Speaker of Haryana

Legislative Assembly (Vidhan Sabha) ?

(A) Shanno Devi ( { Rao Biren er Singh
(C) Kanwar Pal None of the above
For KCI, NaCl and MgSO,, the van't Holff factor, |
approach _______ as the solution becomes
very dilute.

(A) 1 (B) 3

(C) 2 (D) 4

By default, each workbook in Microsoft-Excel

2003 contains worksheets that can be
accessed by sheet tabs.

(A) Four (B) Two

(C) Three (D) One

The farmers of Haryana State are motivated
to adopt fishing in

(A) Estuaries

(B) Salt water only

(C) Marine water

(D) Inland water and artificial pond

The principle of acting to benefit others without
any selfishness or self-interest

(A) Retribution (B) Abomination
(C) Altruism (D) Animosity
Complete the following analogy.
AEI:EIM::I0U:?

(A) MSY (B) JKL

(C) EIM i (D) XYZ

A man travels 3 km towards East then 2 km
towards North and again 2 km towards East
and finally 14 km towards South. What is his

nearest distance from the starting point ?

(A) 12 km (B) 13 km
(C) 21 km (D) None of these
Value of M
(0.5)2 +(0.4)2
(A) 0.009 (B) 0.09
(C) 9 (D) 0.9

CF-HAP - MS

a7. wtemon furen w1 yem wfE FE g ?
(A) ¥t et ) Ta fat fire

(C) Fat Ut (D) 370 # A i3
48. KCl, NaCl 3it MgSO, # o, ame &% #1i, |
e it fyema srea e @
ST R |
(A) 1 (B) 3
) 2 (D) 4
49. Tewiece =9 @, UEFETER-TAE 2003 H T
T o iz e & i vz 2
31 vadE fra S A # |
(A) T (B) @
(C) o= (D) @H

50. gﬁwmnwﬁaf%smﬁq%ﬁaaﬁﬁmﬁr@h

51. far fomeft wamelowan a1 wand & q@dl F1 o1H TEAH

F fore & % = fagm
(A) wfemmea - (B) g
yla LR EAGI (D) Fww

52, ﬁqﬁ@aw@ﬁm| M
} AEIZEIM:: 10U :
AK) MSY (B) JKL
(C) EM (D) XYZ
53. T At 3 freifter @ it 3R s ? W
2 fepreirdfier e it 3R ST @ au E: 2 feedia
qd ) 3R ST R, 3EE 9 i § 14 feemia
2o Y ST R | o el @ e o g

& fore Fraream g8t = &vft ?
(A) 12 Fererrdfte 4By 13 farainfit
(C) 21 freindiex (D) i A 1 7

sa. (05 -04" ooy
(0.5)? +(0.4)

(A) 0.009 (B) 0.09
C) 9 (D) 0.9 '.,
q’l""‘ 1 [s‘f

@ %
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In which of the following the succession is
starts in aquatic environment ?

(A) Mesarch (B) Xerach

(C) Hydrarch (D) Lithosere
Which of the following is not an input device ?
(A) Printer (B) Mouse

(C) Scanner (D) Keyboard

is gsed to send message to several
addresses without showing everyone all the
addresses.
(A) Attach files (B) Courtesy Copy
(C) Subject (D) Blind Carbon Copy

Who among the following is recently appointed
as the CEO of Kaushal Rozgar Nigam, Haryana ?

(A) Sharandeep Kaur Brar E}%‘ﬁ
(B) Durga Shakti Nagpal RO
(C) Smita Sabharwal

(D) None of the above

Which of the following currency has been
introduced by the Iran Government 10 tackle
inflation ?

(A) Toman (B) Pound Sterling
(C) Rial (D) None of the above

If the average of 4 observations is 20 and when
a constant ‘C' is added to each observation,
the mean becomes 22. The value of ‘Cis

we 7 @2 I 8

(C) 4 ) =27 a? 92
r 727 C . -

Kamal is %qtir:eéglder thaniefgs{ervﬁa

who is 2 years younger than her brother Vijay.
If Vijay is 10 years old, then age of Kamal is

(A) 56 yrs (B) 42yrs
(C) 40 yrs (D) none of these

With respect to Money Laundering Law,
FERA stands for

(A) Financial Exchange Registration Act
(B) Foreign Exchange Regulation Act

(C) Foreign Economics Regulation Act

(D) Foreign Economics Registration Act

CF -HAP -MS

Fretferfiaa # & frei srefra arara # srgwm W

4e) TiggHE
P & 2 -1 v g fearem 7 2 7

ﬁj q1349 %
— wEmad o R fe
o HeY W9 & o R s 2
(A) Attach files
(C) Subject

(B) Courtesy Copy

_J?) Blind Carbon Copy

frerferfiaa @ Bl T @ 8 e A Fm,

2 fraron =1 T s st (e0.4.50.) P o

Rt ? )

(A) TN I FR

(B) gl wifa AT

e gaaTd

(D) Fw § & g T
1 frifia #@ ¥ fg {9 T@R A

freffaa d A eR-d g gE A R ?

(D) I & & IS T

af% 4 et a1 sivaa 20 2 ofv e v P
o 7 v T 3§ e R w3, @ e
22 AR | 'C FHE R :

; Wme,ﬁmﬁuﬁﬁmﬁzm
@ﬁ%,%swa@%mﬁﬁmmww’é,ﬁ

Foel & 35 = E ?

AC) 40T (D) T & I T

o YheR w1 & ge A, FERA




’\/ }6 6
I(gni ;ggqiﬁ ggdz.' APSI;LE is go::lé?" as ﬁ:s\ | ea. :f% o Pfera e qeé APPLE 1% 25 fiFar ma
is coded as 36, so what w e GRAPES &I
code of PAPAYA ? S 36 o man 8, A PAPAYA
(A) 36 (B) 49 36 AK) 36 (B) 49
(C) 4 (D) 81 ) 4 (D) 81
Direction (Q. No. 64 and Q. No. 65) : Findthe | fadw (w.4. 64 3t w. 6. 65) : Pr=firfaa saen & =
missing number from the following series. g N demyE ,
/ ; ; 1/
64. 7,12,19,28, 7 } 1 { . 64. 7T12ft:|923. 2
(A) 37 (B) 39 & s (W) 37 & 4B) 39
(C) 57 (D) 49 7 (©),57, (D) 49
65. 8, 12,7, 64,128 | 6 1275 64, 128
(A) 28 (B) 27 m 28 (B) 27
(C) 15 (D) 36 (C) 15 (D) 36
66. Which of the following is the State bird of 5 66. Frffas # @ 7 -a efwmn #1 Teg v @ ?
pem Haryana ? Y wl A) faferEia afFret
e (A) Myliobatis aquila 2 a8 L4 2" 5 :B; ot RfRd
=% (B) Acridotheres tristis N ,
(C) Corvus brachyrhynocus Y- ) ‘¢ (© FRAG FTFAFT 1 ﬁ
(D) Francolinus francolinus " P17 p) Feifema Fwiferra )
67. What is heterostemony ? Y+ Y| e7. Wiafiwnd? )ﬂD
(A) Stamens of different lengths Y ?, g‘ (A) Taftm dam & g /
(B) 6 stamens equal length (B) T Se$ &% 6 HAT
(C) snamensauamedtopenanmmequanengm AG) THER G TaTs § IRGY & IS 8 ©
(D) 4 stamens equal length (D) A ST F 4 JohE
592 x 592 x 592 + 167 x 167 x 167
68. The value of a 88.  592x592_502x167+167x167 ¢
592x592x592+167x167x167qy S @3 X S
592 x 592 — 592 x 167 + 167 x 167 91 759 B) 425
(A) 759 (B) 425 [ gub l/l’/q ’:g iy fD; ol
(C) 334 (D) 1184 ;
§9. There are 5 students P, Q, R, S and T who are ‘] 69. P,Q,R, S 3k Ty e s Faw B
sitting on a bench. T and Q are sitting together, TRQuwsaa R & TR g BT,
T and R are sitting together, P is on extreme pwanﬁaq’k%a%aﬁtowaﬁﬁiﬂi
left and Q is second from extreme right. Who is mﬂwia%lPaﬂtQaiﬁiﬁﬂqaaa?
sitting between P and Q 7 RaRT
(A) RandS (8) Rand T i i o Gk
(C) Rand P (D) Qand R R o
70. It focuses on the relationships among 70. € U GHIS % it sufwal & dfiE waul W
individuals within a society *Hiza &
(A) Symbolic interactionism (A) et 37a:fhaTaTa
(B) Conflict theory (B) werd e
(C) Positivism — (C) Ja&ae T
(D) Structural functionalism s <
F18 -10-
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71. Figure (x) is embedded in any of the four
alternative figures. Find the alternative which
contains figure (x).
¢ -
’\ ; g -rl ()/}
Figure (x) |
(A) c? i ®)
E!'J,?t‘.i P
2 40 i

72.

73.

74.

A theoretical approach that sees society as
a structure with interrelated parts designed
to meet the biological and social needs of
individuals that make up that society

(A) ldealism
(B) Interactionism
(C) Socialism

(D) Functionalism

The ‘Sariska’ Wildlife Sanctuary is located in
the State of
(B) Rajasthan

(A) Gujarat
(D) Uttar Pradesh

(C) Bihar

Inspector belongs to which among the rank
structure of Armed Police ?

(A) Section

(B) Company

(C) Platoon

(D) Battalion

-11=-

§Y
7
g
\{";9’@ LY 35 ﬁﬂ_ HACZ MS

71.

i
s

72.

73.

74.

| X7 kY

<76
ﬁa(xmm%ﬁqn%{mi%ﬁﬁﬁam@
Fort et o ven 3 | e foit o 2 e o
el Rk v fot (x)  emfea R 2 |

N

o= (x)

& (B)

(C) (D)

w Agifees gfRH0 St GE & UF BT & €9
¥ JEar 2, St 39 GHIS H G419 AfwRE H
e iR wrfors sl @ FA F forg g
TG YR HET W EY R, 3 e §
(A) TeETE
(B) ofq:fraar

) EHISETR
(D) IR

g ®

‘afes’ a=siia arvd
femt

(A) T9Td
(C) foem

A4B) TS
(D) I WA

amg%aaﬁtqamwﬁaﬁﬂwﬁmﬁ
e ?
(A) B
(B) 9l
(C) =
Py werferad




e

75. Choose the right option from alternatives for
question mark (?) in figure.

sasy by
¥
|

(A)

pi

(D)

Who invented water frame ?
(A) James Watt

(B) Richard Arkwright

(C) Sir Clement Clarke

(D) James Hargreaves

76.

ASEAN was established in
(A) 1967 (B) 1985
(C) 1975 (D) 1954

78. “World Health Day” is celebrated every year on

E¥T

AL
o E[gl (A) 22" September (B) 8" March |

(C) 7" April (D) None of the above

is soluble in fat and oil.
(B) Vitamin B,
(D) Vitamin C

79.
(A) Vitamin A
(C) Vitamin B,,

In Microsoft-PowerPoint, if you choose
a new presentation is displayed using the
design selected by the user, consisting of a
single slide.

(A) Status bar

(C) Design template
In a certain code, RAINBOW is coded as
ABINORW, then how is TRAIN coded in that

code ?

(A) RAINT

(B) Tool bar
(D) Menu bar

81.

(B) NIATR

CF - HAP—MS

freferfaa fst @ wea fog (2) &t fom ¥ R

(C) AINRT (D) ANITR

F18
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75.
3fea vaig s |
76. SrerEaTs et o anfasen e faman 7
(A) 99 TR
(B) f=d amahtige
(C) TR AL FeTeh
(D) S et
77. I (ASEAN) i 19T dgte |
) 1967 (B) 1985
) 1975 (D) 1954
78. ‘‘fava wren feam”’ wfa = ) T
e |
(A) 22 fadan (B) 8urd
(R) 7 ¥ (D) I | & i T
79. 1 3R A geeia ? |
(A) faarfim A () fazfim B,
(C) frfm B,, @) farfim C
80. WEIETTR-yaReETse §, afd oy T g,
" - et g g T R o 3w, foret
| e ege T B, e A wagfa weftfa &t 2 |
(A) ReE IR (B) T aR
(C) %m'a‘u@z 49) ﬂwr
2R v Rt Fe ow = ABINORW
e Rt T 2, a} TRAIN &
o stmam 7
A4A) RAINT (B) NIATR
(C) AINRT (D) ANITR J
Kb RAT T ?

ppo KW



85.

87.

89.

Mr. Vijay ranked 9" from the top and 38" from

the bottom in a class. How many students are
there in the class ?

(A) 48 (B) 46

(C) 47 (D) 45

HCF of two expressions a and b is 1. Their LCM is
1

A) — -

(A) == (B) a-b

(C) ab (D) a+b

The Headquarters of Lala Lajpat Rai University
of Veterinary and Animal Sciences in Haryana
is located in

(A) Jind (Bg

Hisar
(C) Karnal (D

None of the above

!-luman beings were, since long, not only
interested in knowing more about different
kinds of organisms and their diversities, but

branch of study was referred to as

(A) Surrections (B) Systems =5
(C) Systematics (D) Synergies

Nobel prize in Economic Science/Sveriges Riksbank

Prize in Economic Science — 2019 awarded for

(A) Empirical contributions to labour economics

(B) Methodological contributions to the
analysis of causal relationships

(C) Experimental approach to alleviating
global poverty

(D) None of the above

The slash and burn agriculture is known as
‘Milpa’ in

(A) Vietnam (B) Venzuela

(C) Indonesia (D) Mexico

In English alghabel, which is the 213 Ieﬂerfrqm

the left end G
A) U (B) L
Ec% T (DY

The momentum of a body is increased by 25%.
The kinetic energy is increased by about

(A) 38% (B) 5%

(C) 56% (D) 25% .

Whatis the rank of India in the FIFA (Federation

Internationale de Football Association) Ranking
2021 7
(A) 108"
(C) 106"

(B) 101*
(D) None of the above

-13-

82.

83.

84.

87.

90.

1] \f\‘?

CF -HAP -MS
Mfm aft s i s gdmE wa AR
38 4 Y& W R} | e A et R Rremeff & 7
(A) 48 AB) 46
(C) 47 (D) 45
amtza\aﬁmﬁnﬁwm1%|mw%
) ab (D) a+b -t:l:j’
o & e ererd T uyfafEe 3 oy Ram
Fervafrarea = qgerem weifRm 27
(A) fie ) feam
() FE (D) 3T & A = T
T, S qOE A, 7 Faa fafie g & st s
) Pafvansit 3 wt S i o T A afew
3% o9 & eyl & an § off S 9Ed 9, e
$ 39 AT F FET IR
(A) TETH (B) =qaw
(©) Rt (D) weam
syefyren & Frae qreR )/ sefeme | aftew e
R -2019 & for femrman |
) o rdferaen § rgvaea ARH
(B) =i Tl ¥ frwdwo ¥ fftre Frem
(C) A il ¥ Ipe # wrfirer IITm
(D) Iuira o & whré e -
wueHEFRH _ f few FmA
AT AR |
Yo T (B) Sgwen
(C) ¥enfrn (D) A
7t vtaren & AR R R 21 a1 T AA-A R 7
) U B L
©T (D) V
e fife @1 gam 25% a1 foa i & | R
T TR
(A) 38% (B) 5%
(C) 56% AD) 25%
B (et fee 4 gete i) T
2021ﬁmwm=rrmwm?; |
(A) 10831 A8) 101
(C) 10673 (0) IR ¥ & e
F18
s e ;26- |
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Direction (Q. No. 91 and Q. No. 92) : Fill In the blanks

with appropriate prepositions from the alternatives
given below them.

91.

92.

Direction (Q. No. 93 and Q. No. 94) : Fill in the blanks

with appropriate articles from the alternatives given
below them.

93.

4A) no article required

95.

F18

_English Language

| saw him the crowd.

(A) on “

(B) among

(C) besides Egg?
(P) in Ok é]‘
They found gold coins the mattress.

(A) through
(B) beneath
(Q) into

(D) across

Heis___ LL.B.

(B) the
(C) an
(D) a

boy sings a melodious song at the
crack of dawn.
(A) No article required
(B) An
€) Neither (B) nor (D)
(D) A

Fill up the blank in the following sentence using
the right forms of the word given in bracket.

The boys were ridiculing him for his
(coward).

(A) Cowardy

(B) Coward

(C) Cowardice

() Cowardly

97.

98.

99.

100.

CF - HAP - MS

felt
‘Je-ae YR HI QS |
(A) fereeft
4B) TR
(C) 7g¥a
(D) deam
‘e FAETR R
(A) I
(B) IFR
(€) &
(D) ¥ & #id 7
‘Y yewmEfemEe_ ® |
(A) sroafeEt
(B) srqufet
(C) srqufem
(D) ¥ & Hi3 78
fmisimmm _ w=kid@emd)
() deaw
(B) 7 @.% .
(©) fadeh -
(D) T & =Y e

Iftd 58 i foraA o wg forfty fagl & swafem
9 H FEA ¢ |

(&) &

o) T

(C) farrt

(D) T & H 7l
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